A = 0 & AF & & A A
2022 E =0 & 2Eks)
SIBS: HHOHS A3
S A e gER
¥ o gsFol ezl (cte: @
AR - 2N - 3 - SA(SA) - MRAY - BES Off & o4 Oaﬂgi Hns2
Herael e ar 37,727,501 51,351,854  ~13,624,353
2 30,000
Al 37,697,501
SSHo Haze 1,631,201 1,306,054 325, 147
= 30,000
Al 1,601,201
= ZRMaze 1,155,370 938,220 217,150
2 B BEE B 1,155,370 938,220 217,150
201 2Bt 2 H| 1,103,020 901,020 202,000
01 At 2H2lt] 112,940 133,940 £21,000
OBRMLMCE 2 4,200,0009! 4,200
OZRMM 58X el 2S 99,740,000 99,740
ORFID E§1 2t 2l= 2] 9,000,000%! 9,000
02 22| 990,080 767,080 223,000
OXME ZH bl 980,000, 0002 980,000
OFTEHIANAEY SX 22l £48 10,080,000 10,080
203 ¥ 2 X b 6,600 6,600 0
03 Al FAY 2 F A 6,600 6.600 0
O gexx 3,300,000% 3,300
SN%E YeE 3,300,0002! 3,300
401 Al 2 HI 2 2 T 27,000 27,000 0
01 Al&HI 27,000 27,000 0
OZRMWA 2 SEtel © B SX2S
27,000,000% 27,000
405 Xt 44 S| 18,750 0 18,750
01 HAYLEEF S| 18,750 0 18,750
O=22 M IEM 7Y 18,750,000 18,750
zsnzae 475,831 367,834 107,997
=2 30,000
Al 445,831
ZEY SABL 250,591 218,764 31,827
201 2Bt 2 el 211,071 217,764 £6,693
01 AbR 22l 31,071 37,764 16,693
Ogxig 2l 31,071,000 31,071
02 22| 180,000 180,000 0
oxgzsa 28,000,000 28,000
Oxtgsrd KX 22l 152,000, 00024 152,000




PR3] HHHSASG
M otzelggs
g M SsHel Jja2el (chel:&&)
ARG - 2A - B - BA(AA) - HRMY - BES Ol &k o e HDE2
202 (4 Bl 1,000 1,000 0
01 2 LHO HI 1,000 1,000 0
O=U0otl 1,000,000& 1,000
405 TtHAHF S HI 38,520 0 38,520
01 TR S S FH SHI 38,520 0 38,520
Oz3Exg +¢ 38,520,000& 38,520
SIIXS X S04 225,240 149,070 76,170
= 30,000
Al 195,240
405 TtHAHF S HI 225,240 149,070 76,170
= 30,000
Al 195,240
01 TR S S FHSHI 225,240 149,070 76,170
O38xg =2 HMIIX 204 225,240,000 225,240
= 30,000
Al 195,240
HE 2 ZH 46,300 45,800 500
Jl2ddl(Marze|gga) 46,300 45,800 500
fA2EH 46,300 45,800 500
201 L EH2HI 26,880 26,880 0
01 AtR2teldl 26,880 26,880 0
OfM2I =2t 12,880,000& 12,880
OJlegde+8 gl 14,000,000 14,000
202 (4 8l 14,000 14,000 0
01 2 LHOA HI 14,000 14,000 0
O=U0otl 14,000,000& 14,000
203 YR =&l 4,920 4,920 0
04 FA2EHRFEHI 4,920 4,920 0
OFN2I =8 410,000& 128 4,920
405 TtHAHF S HI 500 0 500
01 A H=SHSHI 500 0 500
Od&ED +¢ 500,000 = 1CH 500
HRas(Maze gdg) 36,050,000 50,000,000 A 13,950,000
HEHAH X = 36,050,000 50,000,000 A 13,950,000
6,887 3 HZ Haol2 EXUS 36,050,000 50,000,000 A 13,950,000
701 JIEII HENES 36,050,000 50,000,000 A 13,950,000
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